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CE 535/ 423 — Groundwater Engineering
TUTORIAL -4

ﬂ Consider the following “equivalent aquifers”

/ Confined: T = 1000 m%*day, R = 5 km
_i)” Unconfined:(a) K = 15 m/day, H=66.7m, R=5km
(b) K=90 m/day, H=11.1m,R =5 km

X i) Leaky Confined: T= 1000 m%day, L = 1200m

Effective Well radius =25 c¢cm

Compute in each case the permissible pumping rate, given that the steady state drawdown at the

well face is 10 m.

Comment upon results.

Q2. Consider the well tapping confined aquifer, enumerated in Q1 (i) above. Water is pumped from
the well at the design discharge rate (computed by you) for a period of 12h. Compute the
drawdown at the well face at times: 3h, 6h, 12h, 15h and 24h. Glxen $=0.0001.




